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7 100kN/mM%BZ 5 — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 241 3215 | #nRS | 000 ~ 241|247 12.51 st 1.00 | 6.00 ~ 5.00 32.15 | =hds | 6.00 ~ 56.00| 2.47 12.51
2 100kN/mM%#BZ % — - ~ — —|3mZTBRB| — ~ — — — | 100kN/m%#8% % — - ~ — — |3mZEBZ S - ~ — — —
s 1.00 | 0.00 ~ 6.24 7831 | FnLSY | 000 ~ 624\ 267 13.51 st 1.00 | 6.00 ~ 10.00 7831 | ThSY | 6,00 ~ 1000 2.67 13.61
3 100kN/m%E#8z5 | 1.00 | 000 ~ 0.13| 101.91 |3mz#zZ3B| — ~ — — — | 100kN/ %8825 | 1.00 | 11.63 ~ 1200| 10191 |3m%E#Z5 - ~ — — —
s 1.00 | 013 ~ 792 100.00 | =nst | 0.00 ~ 792 | 2.44 12.31 st 1.00 | 6.00 ~ 1163 100.00 | =nst | 6.00 ~ 1200 2.44 12.31
4 100kN/m%E#8z5 | 1.00 | 000 ~ 1.18| 11784 |3mz#z3| — ~ — — — | 100kN/ %8825 | 1.00 | 11.60 ~ 1553| 117.84 |3m%E#Z5 - ~ — — —
s 1.00 | 1.18 ~ 897 100.00 | =nst | 0.00 ~ 897 | 2.64 13.35 st 1.00 | .00 ~ 1160 100.00 | =nst | 6.00 ~ 1553 2.64 13.35
5 100kN/m%E#8Z5 | 1.00 | 000 ~ 066 10981 |3mEEZD| — ~ — — — | 100kN/ %8825 | 1.00 | 11.09 ~ 1300| 109.81 |3m%E#Z5 - ~ — — —
s 1.00 | 0.66 ~ 844 100.00 | =nlst | 0.00 ~ 844 | 2.36 11.94 st 1.00 | 6.00 ~ 1109 100.00 | =nst | 5.00 ~ 1300 2.36 11.94
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100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
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